5?1945m2 Schlafen
e A=15.25m2 : .
U=1538m pIisAm Kind 1 Kind 2
Bodenaufhau = BAF 2 Bodenaufbau = BAF 2 A=12.84 m?2 A=12.08 m2
/ U=1458m U=13.90m
Bodenaufbau = BAF 2 Bodenaufbau = BAF 2
\ |
Schlafen
N % A=20.42 m?
we _—T ¥ U=18.10m
N A = 2.00 m2 | j Bodenaufbau = BAF 2
U=570m
Bodengufbau = BAF2
‘—R Abstellraum Abstellraum
A =2.89m? A=1.83m?
U=7.45m U=6.40m
Bodenaufbau = BAF2 Bodenaufbau = BAF 2
Flur Aufzug
Bad A=12.73m? A=2.86m? |
A=9.12m? U=19.70m U=6.77m |
U=13.70m Bodenaufbau = BAF 2
Bodenaufbau = BAF 2 |
! Terrasse
| A =15.98 m?
Bodenaufbau = BAF 3
Flur
A=13.79 m?
Treppeghaus v=ioTm N OK FFB EG
A=12.64m odenaufbau = _ .
U=1826m +-0.00 = 473.76m 0.NN
Bodenaufbau = BAF 2
OK FFB EG OK FFB EG
+-0.00 = 473.76m U.NN +-0.00 = 473.76m (.NN ﬁ N I\ \
_ / Wohnen/Essen/Kochen
WC { A = 38.96 m?
ooshem U=27.62m
Bode_rnaufbau= BTFZ Bodenaufbau = BAF 2
Wohnen/Essen/Kochen
A =31.16 m?
U=2445m
Bodenaufbau = BAF 2
o\ — Bad
L— | - 2
A=10.55m
r 1 U=14.36m
L J | Bodenaufbau = BAF 2

Terrasse

A =10.00m?
Bodenaufbau = BAF 3

Hauszugang
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